R#ETAN #a2 EROFERN 01

1. ROBBE s =aTETIEROFEREZ RO L. (S5, A1510%, B2, C#35)

W y=a (@  y=2

(3 y=(x-3)? 4 y=2"-2
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2. ROPEE =TT 2EROTERZ RO L. (S50, Afk1720%, Bik27 158, C#3320% )

(1 y=2a (2)  y=5x2-10

(3) y=(2z-1)7? 4) y=22%-3z+1
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1.

K57 X

WMo EROFEX o1

RRE R

ROBIBE v =a TEETI2EROFERXZRO L. (SHK45®, A1 3108, B2, Ck3T)

* EFROFER
B y = f(z) & o =a THET 2RO,

Yy =22 = HHROMEEIX 20
BRI AL (a,a?) 238505,
iz

y—a? =2a(xz — a)

y=2ax—a? BZX

3) y=(x—3)?

y =2(x—3) = BEHOMEII 2(a-3)
HeftZ Al (a, (a — 3)?) 2B 5,
y—(a—3)?2=2(a—-3)(x—a) EBEZX

y=2(a—3)x—a’>+9 &EZX

(4)

y =322 -1

y— f(a) = f'(a)(z — a)

y=a°—x

= BEROMEEIT 3¢ -1

PR3 (0,03 —a) 2S5,

w
]

y—(a® —a) = (3a® —1)(xz —a)

y=(3a®> - 1)z —2a® EZX
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2.

ROBABE v =a CETIEROHFEAZ RO L. (S50, Afk1520%, B2 158, C#H%35208)

y =322 = HEROMWEFIF 362
B (a,0%) BB D5,

y—ad=3a%(x —a) &R

NI

y = 3a’x — 2a® T

(3) y=(2z-1)*

Y =222 —-1)=402z—1) = HFEHROMEEIF 4(2a—-1)

PR3 R (a, (20 — 1)) 2o 56,
y—(2a —1)2 = 4(2a — 1)(z — a)

y=4(2a - 1)z —4a®>+1 EZX

N

(2)  y=522-10

y =100 = BHROMEE R 10a
BERIE A (a,50% — 10) BB 05,

y — (5a% — 10) = 10a(x — a)

y = 10ax — 5a%> — 10 -&Z

4 y=223-3zx+1

y =612 -3 = HEHROMESIF 60 -3
BERIE R (a,20® —3a +1) ZBE D5,
y— (2a® —3a+1) = (6a® — 3)(z — a)
y — (2a® — 3a + 1) = 3(2a2 — 1)(z — a)

y=3(2a®> -1z —4a®>+1 -&EZX

s
NI
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